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Subject-Verb Agreement Worksheet

Directions: Can you find and fix the mistakes? Review each sentence and
look for errors in subject-verb agreement. If there is an error, write the
correct sentence in the space below each sentence.

1. She walk to the market.

2. Of all the girls in this room, she are the most beautiful.

3. The cat meows when he is hungry.

4. My favorite book are Green Eggs and Ham.

5. All of the leaves are falling off the trees.

6. Ten minutes are enough time to get there.

7. The man and the woman were late for their appointment.

8. One of the earliest things | remember are my third birthday.

9. All of them is going to the parade.

10. One of the real problems are a lack of oversight.
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Subject-Verb Agreement Worksheet - Answers

1. She walks to the market.

The verb walk should be the singular walks to match with the singular subject she.
2. Of all the girls in this room, she is the most beautiful.

The verb are should be the singular form is to match with the singular subject she.
3. The cat meows when he is hungry.

The sentence is correct. The subject cat and the verb meows are both singular.
4. My favorite book is Green Eggs and Ham.

Even though Green Eggs and Ham is technically plural, it is a book title. Since we are
talking about one particular book, you need to use the singular verb is instead of the

plural verb are.
5. All of the leaves are falling off the trees.

This sentence is correct. The verb are matches the plural subject leaves.
6. Ten minutes is enough time to get there.

When expressing measurements of time, the verb should be singular. Use is instead of are.
7. The man and the woman were late for their appointment.

The sentence is correct. The two subjects are joined by and, so the plural verb were is

correct.
8. One of the earliest things | remember is my third birthday.

Although things is plural, one is actually the subject. It should have a singular verb of is.
9. All of them are going to the parade.

Them is a plural pronoun. The verb for plural pronouns should be plural. Use the plural

verb are instead of is.
10. One of the real problems is a lack of oversight.

Even though problems is plural, one is the singular subject. Use the singular verb is.
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